RTS24CH 2015 Chevrolet Colorado Ext-Cab
Hardware Kit Includes Loose: Installation Instructions

(A) 12 = Hex head bolis (M8-1.25 x 25mm)

Grade §
(B) 12 — Hex head bolts (M8-1.25 x 20mm) @ To front of vehicle @ o
Grade &
(C) 36 — Flat washers (M3) Grade 8 RTSPNO43
(D) 24 = Lock washers (M£) Grade &

(E) 12 — Hex head nuts (M3-1.25) Grade § AC 5
(Fy 12— Long U-Nuts (M8-1.25) Top of Bar % -
Components List: °:'71.'5,[:",E

(Fy 2 =1 Driver/l Passenger RT Step N /‘?ﬂ/ ’ /: / '\ y:

(H) 6 — Mounting Brackets

RTSPN043 R—— % \\ vavd
RT STEP

[~ LOOSE FIT ALL COMPONENTS. | F
DO NOT TIGHTEN UNTIL ALL CN
COMPONENTS ARE INSTALLED 0 B.C.D
AND ADJUSTED.

LY

INSIDE ROCKER PANEL

 DISCLAIMER: USEGHLY |
COMPONENTS AND HARDWARE
SUPPLIED BY ICI. 5 RTSPN043

NO SUBSTITUTIONS.

&. BCD

@li LR AU Tube pecees

Step by Step Installation Instructions

STEP 1: Read and understand instructions completely before beginning installation. Remove all old steps and hardware from truck.
STEFP 2: Locate the driver's side step (the notched end of the Magnum RT Steps goes to the front of the vehicle). See Fig A.

STEP 3: The mounting brackets are the same for both driver and passenger sides. Locate (3) RTSPN043 mounting brackets to be used on the driver side. Looking
underneath the truck at the driver side inside rocker panel there are 8 black, plastic plugs along the length of the cab. Next to the black plastic plugs are
smaller holes. Starting at the front of the cab, remove the first 6 plugs, leaving the last two at the rear of the cab in place. Once, plugs have been removed,
insert provided U-Nuts. See (fig B).

STEP 4: Once the U-Nuts have been installed, loosely fit RTSPN043 brackets to inside rocker panel with provided hardware. See Fig B. Do not fully tighten.

STEP 5: Once brackets are fitted, loose fit Magnum RT Steps using provided hardware (Fig C). Once Magnum RT Steps are loose fit, tighten brackets to inside
rocker to (DO NOT USE IMPACT TOOLS). Next, adjust bar up/down and front/back then tighten step to brackets ATTN: STATE OF CALIFORNIA CONSUMERS
AWARNING: CANCER AND REPRODUCTIVE HARM

-WWW.P65WARNINGS.CA.GOV

STEPF 6: Repeat for passenger side.



